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1st Month, 1st Week, 3rd Day Exercise 1.2 Q # (4, 5, 6)

Q.1. Choose the correct options. (0.5x6 = 3) 
(i) Which one of the following is a correct ascending order?



(a) (b)

(c) (d)

(ii) Which one of the following is a correct descending order?



(a) (b)

(c) (d)

(iii)  The compare between  rational number is:

 

(a) > (b) < (c) = (d) None 
(iv) Which one of the following is correct descending order?



(a) (b)

(c) (d)

(v) Which one of the following is correct ascending order?



(a) (b)

(c) (d)

(vi)  The compare between  rational number is:



(a) > (b) < (c) = (d) None 

 Answer the following questions:  

Q.2. Arrange the rational number in ascending order. (1.5x2=3)



(i) (ii)

Q.3. Arrange the rational number in descending order. (1.5x2=3)



(i) (ii)

Q.4. Compare the rational numbers. (0.5x2=1)   

(i) (ii)
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